Amortization Schedule – Step-by-Step Instructions
Suppose that you take out a loan for $15 000 to help with the expenses for your first year at college. The interest rate quoted by the bank is 6% per annum, compounded monthly. You’ve decided to pay this off over a ten year period.

Create an amortization schedule for one year to show the period, principal, payment, interest, principal reduction and revised balance for each month in the first year. 

Use your TI-Nspire™ CAS to find the payment in the Finance solver and then use the Lists & Spreadsheet application to construct the payment schedule. The interest rate per month will be 0.005 
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 per month but the annual rate of 6% per annum will be converted to this value using a formula. The initial value for Principal is $15 000 and the payment comes from the Finance Solver.
When you are finished, your spreadsheet for the first row should look like the one below. 

	Period
	Principal
	Interest
	Payment
	Principal Reduction
	Revised Principal

	1
	$15,000.00
	$75.00
	$166.53
	$91.53
	$14,908.47

	2
	$14,908.47
	$74.54
	$166.53
	$91.99
	$14,816.48

	3
	$14,816.48
	$74.08
	$166.53
	$92.45
	$14,724.03

	4
	$14,724.03
	$73.62
	$166.53
	$92.91
	$14,631.12

	5
	$14,631.12
	$73.16
	$166.53
	$93.38
	$14,537.75

	6
	$14,537.75
	$72.69
	$166.53
	$93.84
	$14,443.90

	7
	$14,443.90
	$72.22
	$166.53
	$94.31
	$14,349.59

	8
	$14,349.59
	$71.75
	$166.53
	$94.78
	$14,254.81

	9
	$14,254.81
	$71.27
	$166.53
	$95.26
	$14,159.55

	10
	$14,159.55
	$70.80
	$166.53
	$95.73
	$14,063.82

	11
	$14,063.82
	$70.32
	$166.53
	$96.21
	$13,967.61

	12
	$13,967.61
	$69.84
	$166.53
	$96.69
	$13,870.92
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Open a new document and a Calculator application page. From the menu, select 8:Finance, and then, chooose Finance Solver. The Finance Solver will appear. The fields are as follows:      
a. N is the number of payments
b. I(%) is the annual interest rate
c. PV is the principal or Present Value
d. Pmt is the regular payment
e. FV is the future value
f. Ppy is the number of payment per year
g. Cpy is the number of compounding periods per year.
h. The results are stored in variables that you can access later. These all begin with “tvm” (such as tvm.i). The acronym stands for Time Value of Money.
2. [image: image2.emf]Fill in the values needed. Use the e key to move from one field to the next. Use a negative value for the Present Value (principal) so that the Payment will turn out positive for the spreadsheet. Return to the Payment field.
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Press · to determine the monthly payment. There is a notice at the bottom of the screen that indicates that the values in the table are stored in variables that can be accessed.
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Press d to return to the home page. The TVM solver variables are retained in memory and can be accessed by pressing the h key. One option is to copy the interest rate and payment into variables so that they can be easily accessed later. Scroll down to the variable tvm.i and press ·.
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Recall that this value was entered as the annual interest rate quoted as a percentage. We will need the decimal value per month, so we need to divide the rate by 12 and by 100. Press / followed by h to assign the result to variable i.
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Access the variable list again to copy the variable tvm.pmt. Note that i is now listed as a variable. These variables are known to every page in your document.
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Assign the payment to variable p.
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Press c and choose 8 for System Info. From the sub-menu, choose 1 for Document Settings. Press a to open the first field (Display Digits). Choose Fix 2.
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Open a new Lists & Spreadsheet page. Enter the title period in column A and widen the column so that the entire title can be read. Enter the formula a1 + 1 in cell A2 and press ·. We will copy this down later.
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Enter the title principal in column B and widen the column as needed. The values in the remainder of this column will be obtained by a formula. We will return to cell B2 later and copy the formula down the column.
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Move to column C and enter the title interest. In cell C1, enter the formula as shown. If the interest rate was not stored on the calculator page, then it can be accessed using the tvm.i feature. Again, we will copy this down later.
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Move to column D and enter the title payment. The formula is simple. As with the previous column, we will copy this down the table later.
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Move to column E and enter the title reduction. This is the amount by which the principal is reduced, the difference between the payment in column D and the interest in column C.
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Finally, enter the title revised in column F, for the revised principal. This is the difference between the original principal from column B and the principal reduction from column E. This will become the principal at the beginning of the second month.
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Once we get the second row completed, we can copy the entire set of formulae down the remainder of the column. Right now, we can copy the last four columns in row 1 to row 2. Move to cell C1, hold the g key and press ¢ until the cells C1 through F1 are highlighted.
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From the Data menu, choose Fill Down.
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This will put a box around the four cells as shown to the right.
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Press ¤ so that the box covers the cells C1 through F2.
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Press · and the values in the second row will be updated. Note that they are not correct as some of these values depend upon the principal, which has not yet been updated.
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Move to cell B2 and enter the formula =f1 for the principal at the beginning of the second month. The principal at the beginning of all successive months will equal the revised principal from the end of the previous month.
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Press · and the values in row 2 will be updated.
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Now, we need to copy all of the formulae in row 2 down to row 12. Highlight cells A2 through F2. From the Data menu, choose Fill Down as before.
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Move the cursor using the ¤ key until the box extends to row 12.
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Press · to complete the Fill Down action. Move to cell F12 to find the value owing at the end of the first year.
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